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P.T.O.
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lkekU; vè;;u GENERAL STUDIES

r`rh; iz'u&i=k THIRD PAPER

ijh{kkfFkZ;ksa ds fy;s funsZ'k%

Instructions to the candidates :

bl iz'u&i=k esa [kaM&v ,oa [kaM&c gSA izR;sd [kaM 150 vad dk gSA

This questions paper consists of Part-A  and Part-B. Each part carry 150 marks. 

	 1.	 izR;sd [kaM esa dqy rhu iz'u gSaA lHkh iz'uksa ds mÙkj nsuk vko';d gSA iz'u Øekad 02 rFkk 03 esa vkrafjd fodYi 
gSaA iz'u Øekad 02 esa 'kCn lhek 100 gS rFkk Øekad 03 esa 'kCn lhek 300 gSA

		  Each part of this questions paper consists of 03 questions. All questions are compulsory. Questions No. 02 
and 03 have an internal choice. For Questions No. 02 word limit is 100 words and for Questions No. 03 
word limit is 300 words. 

	 2.	 iz'uksa ds mÙkj mlh ekè;e esa fy[ks tkus pkfg, ftldk p;u vkius vkosnu&i=k esa fd;k gSA fdlh vU; ekè;e esa 
fy[ks x;s mÙkj ij dksbZ vad ugha feysxkA lHkh 03 iz'u djuk vfuok;Z gSA iz'u&i=k ds vuqlkj gh iz'uksa ds mÙkj 
Øekuqlkj nsa] ,d gh iz'u ds fofHkUUk Hkkxkasa ds mÙkj vfuok;Z :i ls ,d lkFk gh fy[ks tk;sa rFkk muds chp vU; 
iz'uksa ds mÙkj u fy[ks tk;saA

		  Answers should be written in the medium which you have opted in your Application Form. No marks will 
be awarded, if the answer is written in any other medium. All the three questions must be answered. Questions 
should be answered exactly in order in which they appear in the questions paper. Answers to the various 
parts of the same questions should be written together compulsorily and answers of other questions should 
not be inserted between them.

	 3.	 izFke iz'u y?kq mÙkjh; gS] ftlesa 15 vfuok;Z iz'u gSA izR;sd dk mÙkj ,d vFkok nks iafDr;ksa esa nsuk gSA 
	 	 The first question is of short answer type consisting of 15 compulsory questions. Each one is to be answered 

in one or two lines.
	 4.	 tgk¡ 'kCn lhek nh xbZ gS mldk vo'; ikyu djsaA
		  Wherever word limit has been given, it must be adhered to.
	 5.	 ;fn fdlh iz'u esa fdlh izdkj dksbZ eqnz.k ;k rF;kRed izdkj dh =kqfV gks] rks iz'u ds fganh rFkk vaxzsth :ikarj.k esa 

ls vaxzsth :ikarj ekud ekuk tk;sxkA
		  In case there is any error of printing or factual nature, then out of the Hindi and English versions of the 

question, the English version will be treated as standard.

[kaM&v
Part-A

	 1.	 fuEufyf[kr ij ,d ;k nks iafDr;ksa esa mÙkj fyf[k;s%
		  Write answer in one two sentences on the following:
	 (A)	 jsfM;ks vkblksVksIl D;k gSa\
		  What aer radioisotopes?

	 (B)	 tSo fofo/rk ds laosnu'khy {ks=k
		  Hot spots of Biodiversity.
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	 (C).	 feJ/krq dks ifjHkkf"kr dhft;sA
	 	 Define Alloy.

	 (D)	 Mh-,u-,- vaxqyh Nki
		  DNA Finger-printing.

	 (E)	 thok'e b±/u
		  Fossil Fuel

	 (F)	 iw.kZ la[;k,¡
		  Integers

	 (G)	 Hkkjh ikuh
		  Heavy Water

	 (H)	 cMZ (i{kh) Ýyw ,oa Lokbu (lwvj) Ýyw
		  Bird Flu and Swine Flu

	 (I)	 tSfod [ksrh
		  Organic farming

	 (J)	 bZ&LokLF;
		  e-Health

	 (K)	 eVksbZ (,e-Vh-vks-bZ-)
		  MTOE

	 (L)	 lqugjk pkoy
		  Golden Rice

	 (M)	 lkiQk (,l-,-,iQ-,-)
		  SAFA

	 (N)	 ukfHkdh; fo[k.Mu
		  Nuclear Fission

	 (O)	 ,d O;fDr dks viuh lkbfdy `1140 esa cspus ij 05% dk ?kkVk gksrk gSA lkbfdy dks fdrus esa cspus ij 
mls 05% dk ykHk gksxk\

		  A person incur a 05% loss by selling his bicycle for rupess (`) 1140. At what price the bicycle be sold/
sell-up to earn the 05% profit?

	 2.	 fuEufyf[kr esa ls fdUgha 10 iz'uksa ds mÙkj yxHkx 100 'kCnksa esa nhft,%� 10 × 6 = 60
		  Answer any 10 questions in about 100 words from the following:� 10 × 6 = 60
	 (A)	 ekuo var%lzkoh ra=k ds ckjs esa laf{kIr esa fyf[k;sA
	 	 Write briefly about Human Endocrine System.

	 (B)	 lkSj mQtkZ ,oa eè; izns'k izkar
		  Solar energy and Madhya Pradesh.

	 (C)	 gfjr jlk;u foKku D;k gS\
		  What is green Chemistry? 

	 (D)	 isQe (,iQ-,-,e-bZ-) Hkkjr dk laf{kIr esa o.kZu dhft,A
	 	 Describe briefly FAME India.
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	 (E)	 foKku ,oa rduhdh ds {ks=k esa Hkkjr ds iwoZ jk"Vªifr ekuuh; LoxhZ; MkW- ,-ih-ts- vCnqy dyke ds ;ksxnku dh 
laf{kIr esa foospuk dhft;sA

	 	 Discuss briefly the contribution of forner President of India honourable Late Dr. A.P.J. Abdual Kalam 
in the field of science and technoloyg. 

	 (F)	 lqij dEI;wVj ,oa Hkkjr
		  Super Computer and India. 

	 (G)	 fo'o ckSf¼d@izkKthoh@cqf¼thoh lEink laxBu (ohbZiks) D;k gS\
		  What is World Intellectual Property Organization (WIPO)?

	 (H)	 vy&uhuks ,oa yk&uhuks ds izHkko dh laf{kIr esa foospuk dhft;sA
	 	 Discuss briefly the effects of El-Nino and La-Nino.

	 (I)	 ckWl (ch-vks-,l-,l-) dk D;k rkRi;Z gS\
		  What is BOSS?

	 (J)	 tSo fofo/rk dh eè; izns'k ds fo'ks"k lanHkZ esa foospuk dhft;sA 
		  Discuss Biodiversity with special reference to Madhya Pradesh. 

	 (K)	 tSo izkS|ksfxdh ,oa lkekftd fodkl 
		  Bio-technology and Social-development. 

	 (L)	 gfjr bekjrksa dk D;k rkRi;Z gS\
		  What are Green buildings?

	 (M)	 vkink izca/u ls vki D;k le>rs gSa\
		  What do you understand by Disaster Management? 

	 (N)	 ¶ekWe¸ (,e-vks-,e-) D;k gS\
		  What is ‘‘MOM’’?

	 (O)	 ;fn 510 dks `X, Y, Z esa bl izdkj forfjr fd;k tk, fd X dks Y dk 2/3rd feys ,oa Y dks Z dk 1/4th feys] 
rks mDr rhuksa dk vyXk&vyx Øe'k% fgLlk fdruk gksxk\

		  If Rupess (`) 510 be divided among X, Y, Z in such a way that ‘X’ gets 2/3rd of what Y gets and Y 
gets 1/4th of what Z gets, then how many shares will be separately as well as respectively of the above 
three?

	 3.	 fuEufyf[kr iz'uksa esa ls fdUgha rhu iz'uksa ds mÙkj yxHkx 300 'kCnksa esa nhft;s%� 3 × 15 = 45
		  Answer any three of the following questions in about 300 words: 
	 (A)	 ¶oSf'od rki o`f¼¸ ,oe~ ¶tyok;q ifjorZu¸ D;k gS\ buds dkj.kksa dks foosfpr dhft;sA tyok;q ifjorZu ds 

nq"izHkko@izfrdwy izHkko fyf[k;s ,oe~ varjkZ"Vªh; Lrj ij bldh jksdFkke ds fy;s fd;s tk jgs iz;klksa dk o.kZu 
dhft;sA 

		  What is ‘‘Global Warming’’ and ‘‘Climate Change’’? Discuss their causes. Wite down the adverse 
effect of climate change and describe the internatinal efforts are to be taken to control it. 

	 (B)	 ¶esd bu bafM;k¸ vfHk;ku@dk;ZØe D;k gS\ ;g vfHk;ku@dk;ZØe Hkkjr ds lkekftd ,oe~ vkfFkZd fodkl esa 
fdl izdkj lgk;d fl¼ gksxk\ le>kb;sA

		  What is ‘‘Make in India’’ programme? How this programme will be helpful in the socio-economic 
development of INDIA? Explain. 
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	 (C)	 fuEu ij laf{kIr fVIif.k;k¡ fyf[k,%
		  Write down short notes on the following:

	 (i)	 uSuks&rduhdh ds fofo/ mi;ksx
		  Mainfold applications of Nano-technology.

	 (ii)	 nwjLFk laosnu ,oe~ HkkSxksfyd lwpuk ra=k (GIS)
		  Remote sensing and Geographical Information System (GIS).

	 (iii)	 eè; izns'k jkT; esa ty&lalk/u
		  Water resources in Madhya Pradesh state.

	 (D)	 ¶lqO;ofLFkr uxj&'kgj¸@ ¶LekVZ flVh¸ dh vo/kj.kk D;k gS\ ¶lqO;ofLFkr uxj fe'u¸@ ¶LekVZ flVh fe'ku¸ 
ds laca/ esa gekjs iz/kuea=kh Jh ujsUnz eksnh ds y{; ,oe~ mn~ns'; D;k gSa rFkk lkFk gh lkFk bl fe'ku ls tqM+us 
okys 'kgjksa ds fy;s vko';d ekunaM D;k gSa\ eè;&izns'k izkar ds dkSu&dkSu ls uxj&'kgj bl fe'ku ls tqM+us 
okys gSa\

		  What is the concept of ‘‘Smart City’’? what are the aims and objectives of our Prime Minister Shri 
Narendra Modi regarding the ‘‘Smart City Mission’’ and along with this what are the necessary criteria/
norms for the cities to join this mission? Which cities of Madhya-Pradesh state are ready to be a part 
of this Mission? 

	 (E)	 fuEu ij laf{kIr fVIif.k;k¡ fyf[k,%
		  Write short notes on the following:

	 (i)	 ukfHkdh; mQtkZ ,oe~ Hkkjr 
		  Nuclear eneergy and India

	 (ii)	 bZ&vif'k"V izca/u
		  e-waste management 

	 (iii)	 ¶uekfe xaxs%¸ ,dhÑr ¶xaxk¸ laj{k.k fe'ku
		  ‘‘Namami Gange’’ Integrated ‘‘GANGA’’ Conservation Mission.

	 (F)	 fuEu lkj.kh dk è;kuiwoZd vè;;u djsa ,oe~ uhps fn;s x;s iz'uksa ds mÙkj nsa%

		  fdlh ijh{kk esa izfo"B gq, 100 fo|kfFkZ;ksa dk ouLifr foKku ,oe~ izk.kh foKku fo"k;ksa esa izkIr ds vk/kj ij 
oxhZdj.kA 

     50 esa ls

        vad

fo"k;

40 ,oe~ vf/d 30 ,oe~ vf/d 20 ,oe~ vf/d 10 ,oe~ vf/d 0 ,oe~ vf/d

ouLifr foKku 09 32 80 92 100
izk.kh foKku 04 21 66 81 100
iw.kZ ;ksx 07 27 73 87 100

	 1.	 fdrus fo|kFkhZ] ftUgksaus dqy vax 40% ls de izkIr fd, gSa\

	 2.	 ;fn mPPk f'k{kk gsrq ouLifr foKku fo"k; esa de ls de 60% vadksa dh vko';drk gS rks fdrus fo|kFkhZ 
oUkLifr foKku esa mPPk f'k{kk izkIr djus ds ;ksX; gksaxs\

	 3.	 izk.kh foKku fo"k; esa 30 vadksa ds dV&vkWiQ ij ikl gksus okys ,oe~ iw.kZ ;ksx esa 30 vadksa ds dV&vkWiQ 
ij ikl gksus okys fo|kfFkZ;ksa dh la[;k ds chp fdruk varj gksxk\
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	 4.	 muj fo|kfFkZ;ksa dk izfr'kr fdruk gksxk ftUgksaus izk.kh foKku esa 60% vad izkIr fd, gSa rFkk ftuds iw.kZ 
;ksXk esa de ls de 40% vad vk, gS\

		 Study the following table carefully and answer the questions given below: 
	 	 Classificaiton of 100 students on the basis of marks obtained in the subject of Botany and Zoology 

appeared in any examination.
         Marks out of 

50
Subject 

40 and above 30 and above 20 and above 10 and above 0 and above

Botany 09 32 80 92 100
Zoology 04 21 66 81 100
Aggregate 07 27 73 87 100
	 1.	 How many students, who aggregately obtained below 40% marks?
	 2.	 If atleast 60% marks is necessary in the subject of Botany for higher education then how many 

students will be eligible for the studies of higher education in Botany?
	 3.	 	What difference will be between the number of students passed with 30 as cut-off marks in 

Zoology and those who passed with 30 as cut-off marks in aggreate?
	 4.	 What percentage will be those students who obtained 60% marks in Zoology and those who 

aggregately got atleast 40% marks?

[kaM&c
Part–B

	 1.	 fuEufyf[kr ij ,d ;k nks iafDr;ksa esa mÙkj fyf[k;s%� 15 × 3 = 45
		  Write answer in one or two sentences on the following: 
	 (A)	 futhdj.k dks ifjHkkf"kr djsaA
	 	 Define Privatization.

	 (B)	 Nn~e csjkstxkjh D;k gS\
		  What is disguised unemployment?

	 (C)	 xjhch ds ekin.M fyf[k;sA
		  Write the parameters of poverty.

	 (D)	 ¶foÙkh; lekos'ku¸ dks ifjHkkf"kr dhft;sA
	 	 Define ‘‘Fiancial Inclusion’’.

	 (E)	 fyax&fodkl&lwpd D;k gS\
		  What is gender development indicator?

	 (F)	 ¶{ks=kh;&vlarqyu¸ ls vkidk D;k vfHkizk; gS\
		  What do you mean by ‘‘Regional lambalances’’?

	 (G)	 ^lekos'kh fodkl* fdls dgrs gSa\
		  What is called ‘‘Inclusive Development’’?

	 (H)	 jk"Vªh; vk; dks ifjHkkf"kr djsaA
	 	 Define National Income.
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	 (I)	 lsch dh Hkwfedk D;k gS\
		  What is the role of SEBI?

	 (J)	 ^[kk|&lqj{kk* ds ekin.MA
	 	 Define the parameters of ‘‘Food Security’’.

	 (K)	 xjhch js[kk rFkk Hkq[kejh js[kk ds eè; varj D;k gS\
	 	 What is difference between the poverty line and starvation line?

	 (L)	 eè; izns'k esa lgdkfjrk dh fo'ks"krk;sa D;k gSa\
		  What are the characteristics of co-operatives in Madhya Pradesh?

	 (M)	 lkekftd&fj;k;rsaA
		  Social Subsidies

	 (N)	 lkoZtfud forj.k iz.kkyh dh dksbZ ik¡p lhek,¡ fy[ksaA 
	 	 Write any five limitations of public distribution system.

	 (O)	 ekuo fodkl ds rkRi;Z dks mYysf[kr djsaA
		  What do you mean by Human Development?

	 2.	 fuEufyf[kr iz'uksa ds mÙkj yxHkx 100 'kCnksa esa nhft;sA izR;sd iz'u 6 vad dk gSA � 10 × 6 = 60
		  Answer the following questions in about 100 words each, Each questions has 6 marks.
	 (A)	 vkS|ksxhdj.k D;k gS\ eè; izns'k esa de vkS|ksxhdj.k ds D;k dkj.k gSa\
		  What is Industrialization? What are the causes of low indusrialization in Madhya Pradesh?

vFkok@OR

		  Hkkjrh; vFkZO;oLFkk dh orZeku izeq[k pqukSfr;ksa dh O;k[;k dhft;sA

		  Explain the present main challenges of Indian economy.

	 (B)	 Hkkjr ds fodkl esa X;kjgoha iapo"khZ; ;kstuk dk D;k ;ksxnku jgk gS\ fyf[k;sA
		  What are the contributions of 11th Five Plan in economic develpment of India?

vFkok@OR

		  ubZ vkfFkZd uhfr 1991 dk leh{kkRed fo'ys"k.k djsa ,oa CkSafdax {ks=k ij blds izHkko dh O;k[;k djsaA
		  Critically analyse the New Economic Policy 1991 and explain its impact on the banking sector.

	 (C)	 jk"Vª ds vkfFkZd fodkl esa vk/kjHkwr&lajpuk ds ;ksxnku dk vkykspukRed ewY;kadu dhft;sA
		  Critically evaluate the role of infrastructure in economic development of the country.

vFkok@OR

		  Hkkjr esa 'kgjhdj.k ,d cM+h leL;k gSA blds Hkfo"; ds nq"ifj.kkeksa ij izdk'k Mkfy;sA
	 	 Urbanization is a big problem in India. Give your comments on future ill-effects of urbanization.

	 (D)	 Hkkjr esa {ks=kh; vlarqyuksa dks dSls lq/kjk tk ldrk gS\
		  How can regional imbalances be improved in India?

vFkok@OR

		  yf{kr lkoZtfud forj.k iz.kkyh dks Lke>kb;sA
		  Explain the targetted Public Distribution System. 
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	 (E)	 [kk|&lqj{kk ls D;k le>rs gSa\ ;g Hkkjr tSls ns'k ds fy;s D;ksa vko';d gS\
		  What do you understand by food security? Why it is necessary for a country like India?

vFkok@OR

		  xzkeh.k lk[k D;k gS\ blesa ukckMZ dh Hkwfedk dh leh{kk dhft;sA

		  What is rural credit? Critically examine the role of NABARD in rural Credit.

	 (F)	 vkfFkZd fodkl ds RkÙoksa dk mYys[k dhft,A
		  Explain the factors of economic development.

vFkok@OR

		  eè; izns'k ds vkS|ksxhdj.k dh vo/kj.kk dks le>kb;sA
		  Explain the concept of industrialization of Madhya Pradesh.

	 (G)	 ¶LekVZ flVh ifj;kstuk¸ dh D;k ladYiuk gS\ eè; izns'k ds fdu 'kgjksa dks p;fur fd;k x;k vkSj D;ksa\
		  What is the concept of Smart City Project? Which cities of Madhya Pradesh have been chosen and 

why?

vFkok@OR

		  eè; izns'k esa ;krk;kr&fodkl dh cM+h leL;k;sa dkSu lh gSa\
		  What are the major problems of transport development in Madhya Pradesh?

	 (H)	 Hkkjr esa mnkjhdj.k ds izHkkoksa dks fyf[k;sA
		  Write the impact of liberalization in India. 

vFkok@OR

		  eè; izns'k dh [kk|&lqj{kk ij laf{kIr fuca/ fyf[k;sA 
		  Write a short eassy on the Food Security of Madhya Pradesh. 

	 (I)	 ¶iwjk¸ ekWMy dks foLrkj ls le>kb;sA 
		  Explain the detail the ‘PURA’ model. 

vFkok@OR

		  eè; izns'k ds vkfFkZd fodkl esa ^tu foÙk* dh Hkwfedk dh vkykspukRed foospuk dhft;sA
	 	 Critically analyse the role of Public finance in the economic development of Madhya Pradesh.

	 (J)	 ^fVªEl* ds mn~ns';ksa dks le>kb;sA 
		  Explain the objectives of ‘TRIMS’.

vFkok@OR

		  izolu D;k gS\ eè; izns'k esa izolu dh D;k fLFkfr gS\ fyf[k;sA

		  What is migration? What is condition of Migration in Madhya Pradesh?

	 3.	 fuEufyf[kr iz'uksa dk mÙkj yxHk 300 'kCnksa esa nhft;sA izR;sd iz'u 15 vad dk gSA
		  Answer the following questions in about 300 words. Each question has 15 marks.� 3 × 15 = 45
	 (A)	 Hkkjr esa 'kgjh rFkk xzkeh.k csjkstxkjh dh izÑfr dk o.kZu dhft;sA bls nwj djus ds fy;s vHkh gky esa ljdkj 

}kjk D;k dne mBk;s x;s gSa\ foLrkj ls fyf[k;sA
		  Describe the nature of urban and rural unemployment in India. What steps have been adopted by the 

government in recent times to reduce it? Write in detail.
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vFkok@OR

		  Hkkjrh; Ñf"k ij mnkjhdj.k ds fofHkUUk izHkkoksa dh lfoLrkj O;k[;k dhft;sA
	 	 Explain in detail the different effects of Liberalization on Indian agriculture. 

	 (B)	 rhoz lekos'kh fodkl D;k gS\ Hkkjr esa rhoz lekos'kh fodkl us (12oha iapo"khZ; ;kstuk esa) csjks”kxkjh dks de 
djus esa dSls lgk;rk dh gS\

		  What is faster inclusive growth? How it has helped in unemployment reduction (in 12th Five Year 
Plan) of the country?

vFkok@OR

		  ^egkRek xk¡/h jk"Vªh; xzkeh.k jks”kxkj xkjaVh* ;kstuk dh liQyrk rFkk vliQyrk ij leh{kkRed ewY;kadu dj 
mÙkj dh iqf"V dhft;sA 

		  Critically evaluate the MNREGA scheme and draw out the success or failure of the scheme based on 
the evaluation. 

	 (C)	 lkekftd {ks=k ds lacaf/r vFkZ&lkgkÕ; ds D;k mn~ns'; gSa\ ,slh dkSu&lh leL;k;sa gSa tks blds mn~ns'; dks iwjk 
ugha gksus nsrh\

		  What are the objectives of related subsidies of social sector? Which types of problems are barriers to 
fulfil its objectives?

vFkok@OR

		  Hkkjrh; vFkZO;oLFkk dh orZEkku izo`fÙk;ksa dk mYys[k djsaA
		  Explain the recent trends of the Indian economy. 


